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She is a student. She is not a student. Is shr a student?

She studies. She does not study. Does she study?
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never- rarely- seldom- frequently- often- always- Usually
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1) They are eating launch now. s 03,55 Ll J= s il
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2) Mehdi is coming to Tehran tomorrow. Ll Ol g a s 5 5 ls Aad sugs
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They are eating launch now. (2 “ v <14 e\
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They are not eating launch now. " f;;- (\ ("3 ya
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You have seen the movie.

You have not seen the movie.

Have you seen the movie?
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1) The finance committee has been working on its budget for nearly a month.
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1) Saleh has studied English carefully.
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2) Sadra has been studing English since 8:00 a.m this morning.
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1) As soon as the actress began to speak, everyone applauded.
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2) When mina lost her key, she cried.
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1) I was teaching at 8 o'clock.
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2) While she was studing, the telephone range.
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She was studing.
She was not studing.
Was she studing?
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1) When we arrived home, Sahar had gone to university.
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2) Sahar suddenly realized that she had seen the film.
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Just, already, many times, several times, once, twice, ever, still, yet
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She had gone to university.
She had not gone to university.
Had she gone to university?
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1) Sahar has been studing for two weeks when she finally passed her exam.
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2) We had been waiting for the plane an hour for it landed.
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Paste perfect:.
1) Ihad worked before you came. 3 03,8 anlllae o Lok Okl 31 L3

Past perfect continuous:

2) Before you came | had been working for 2 hours.
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1) Sahar will wash the dishes and Ali will dry them.
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2) Saleh may travel to Shiraz if obtains a good job.
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will Can Shall May Must Had better

would could Should might Had to Would rather
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She will wash the dishes.
She will not wash the dishes.

Will she wash the dishes?
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1) Sadra will have completed the English course by January.
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Jelo + will + Have + P.P
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1) The next time | see her, she will have living in her new apartment for one month.
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1) Sahar told me that she would go to university on Monday.
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2) She said that she would call you tomorrow.

sl eyd
Jeb+would +10 o5 ;Aas
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She would call you tomorrow.
She would not call you tomorrow.

Would She call you tomorrow?
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1) She said that she would be studing at 6 o'clock that day.
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1) She said that he would have painted the room by the next week.
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She said that the next week she would have studying English for 3 week.
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1) He will meet us if he comes soon.
s el 1 b dls 55 5l S
2) He will not meet us unless he comes soon.
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1) If we go there, we will meet him. (we may go there)
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2) If we put a piece of wood on water it floats.
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3) Saleh gets good grade if she studies well.
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1) If I had time, I would call her. (but I don't have time so | can not call her)
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2) If I were there, | would meet him.
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1) If we had come soon, we would have met him.
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2) If I had had time yesterday, | would have called her.
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type g5 boosle ol ole
Future possible Jsl g5 b ol Jl> o3l ol
Present unreal 032§ b o3l 43S o3l 4338 5 o]
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Sad o ekl w4z 5l Sl s s
1) He had his sister wash his shirt. pis Ul 3 oale aly iuld
i el AL 93 e Ll
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2) | had a mechanic repair my car.
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shas Do s s Jed 5 S eslizal (have, make, let) (sla Job 5l oo O 55 811
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3) I had my car repaired. oS f.*.\s il o0
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Have, make let, get, force, cause
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1) Saleh refused to sign the contract. 25 Solas g slayl B elasl Sl Rl

2) Sadre taught his daughter to drive.  .sls 5L Sl ol 4 s
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admit finish regret
anticipate imagine remember
appreciate mention resent

avoid miss resist

consider postpone risk

delay practice stop

deny quit suggest

discuss recall tolerate

enjoy recommend understand

1) Why do not you quit smoking cigarettes?
2) She tries to avoid discussing controversial subjects.
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LT e ol Jxd 5l e als bl
afford fail plan
agree forget pretend

arrange hesitate refuse
care hope remember

consent Know how say
decide learn threaten

demand manage volunteer

deserve mean want
expect need wish

offer

1) Sahar refused to answer the question.
2) She said to listen carefully.
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2,8 o 3 Usmie S0 b 55 Ole 4

advise Invite
allow order
cause permit
challenge persuade
command remind
convince request
encourage require
forbid teach
force tell
hire urge
instruct warn

1) Saleh has advised Sadra to review the material.
2) Saleh told Mehdi to listen carefully.
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ask like
beg promise
dare want
expect wish
help would like

1) Sadra asked Saleh to work on the project with steve.
2) Sahar asked to work on the project.
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advise forget prefer
attempt hate remember
begin hesitate start
continue intend stop
dislike like try
forbid need

1) It began raining.
2) It began to rain.
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hear see
feel watch
notice observe
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1) He should have sent an email. (owloss ol J9) 5500 Joasl L

.could + have + P.P 5 ,,is -2
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2) Hecould have sentanemail.  ((coslosy feasl Jo) 5 Joosl il o
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3) He might have sent an email. Al e b asles) Joa) ol (S
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4) Sahar had an accident so she must have driven carelessly.
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I wish he had passed the exam last week.
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S eslinl WERE

Sahar wishes she were there today.
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Saleh broke the window. (Active)
Jels J gie

The window was broken. (Passive)
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:SHALL, WILL &l -3
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I shall be twenty seven next week.

(A dal gt Wl i 5 o okl s AL a2y jawandd 5 dead Sl 05k Jol8)

I will go to university tomorrow. gy ol w1 3 s yls Al el
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1Y ¢l>'=§| Sy 0ol slgly -2

Shall we go out or not? FO L 0o o
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Shall I open the door? SoS b o il
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Al e

She has bought a swimsuit; she is going to swim.
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She will go swimming. (ol oslel L 5l Sladia) 35 L &0 dal g o
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SOME
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I drink some milk everyday.
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There is not any mistake in her essay. S 3 o) ey Al o

NO
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There is no mistake in her essay. G gy sl Wlie s alail s
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A3 o Sl pehe dbaxr walittle &SI 5 das o 2w o see
There is little money in my pocket.
(s s3lizal BB oS sl oS SUAED) 3,13 555 oS o I e 510
There is a little money in my pocket.
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few, afew <« s -5
dax o few o5 cl ol 5, 0 LIS ol LB bl 513 53 e S a5 o) s sl

a3 o Cule o et dhacx wafew S s das o 2 o see

There are few people in the meeting.
(g JoS25 B a5 ol oS 51a3) Wls ) e ki 55 a8 513

There are a few people in the meeting.
(el K25 B ek 5 sl oslio 3a5) 13 e ad 53 (S 313
enough, too 5 .,Is -6

Aled o i ) ate pagde 5 Ll e Cdo A b 5 il 1 3 31 (slae o eNOUGN S

She had enough money to buy a car.
el ol k2 ) S g

The house was big enough to live in.
2p S op S ol 4 Su gl als ol
S o S |y (6l e psehe 5 355 00 0 G ko b 4351 13 5L bt slas 100 aols
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The house was too big to live in.
s S S s (SK5 gl als O
Ssd o o3lital 1051 enough, 100 51 da Y gens 1SS
2ol 5 8 o sy skien o Slas 4 4.1.‘,.>_-J.>'-TJ>t00 o Dl

I can speak English and you can too.

ofees oa led 5 05 S SO Sl e o0

:such 4 s0 5 5,8 -7

Sy e oslitwl Lo b Ul 5l S (g 5lade (slae 4550 audS
The car was so expensive that that | can not buy it.
5 |1 el el e 4 35 OIS BT edle O
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Many, much, few, little
3,03 3 58 55 s skien (o Sl wand ol jon o> Lauy ;350 Cad oDl
I can speak English and so can you.
35500 JSS 3he slul 5l J3suchalan 5 wexr ol 51 13 Ol — Ol las 4 sUCH aus
Al Cdo Sl by e ol ST b i w355 0 S0 56 i 31 L3 SUCh aalS S5l a8

It was such a rainy day that we can not play football.
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: either — neither 5 ., -8
el 93 s o 95 a0 )lal e s s ¢|.L§>=~AM 5 e O L33 8 slis « either i
..sj)da)l.({d&.‘wMJ}T)JNd\jppgjsjbwl&écﬁw&j;pgwoﬁ.:)b
Either book is useful to study.
A Ao axllas gl 5 OLS 55
S0 O U\A;-J}T):ﬁ: e 5 o p Sl « either <& o M
I can not speak English and you can not either.

RV TRy O PR

By S e 55 35 pies 5 as lae 4 5 Neither <
I can not speak English and neither you can.

et 2 L 5 055 S el 515

A o b slms 4dS 55 55 eslimal OF Sl either wulS i da axsler 1K
| want either this book or that one.

.\)gusomﬁ\?-@\)gtswwy

s e & glas 4alS 3 55l eslizal nor ineither oS 3l e sl 24$
| want neither this car nor that one.
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:used to — to be used to — get used to <yl -9

.L,J\JbJ;;—fb—.b)ls‘g;ﬂ.lfﬁ&ﬁ.bf&&‘js)zﬂC,&by‘}wﬁdd)umw‘
BE) Lib ()\ﬁj@bl& ijmy}w> a.,\,in@ ¢l>u| MK)JASCM»‘ C))L?.Q U'i‘ :Used to -1
J}Jud‘u ¢l>u\J<.lJ‘5oJ\.J: g_.Q_;}Laf.pb- Jl}-
He used to smoke cigarette.

(sl 03 S S 5= diS as K K5 0581 Jy) il nle 0S8

:;pjwﬂ;u;})y@usedto <sle szs&i'wéb.g

He used to smoke cigarette.
He did not used to smoke cigarette.

He used not to smoke cigarette.

s oo o3l 10 O3 jhas slUSEA 1O sl 5 day o)l san Codls WL 1SS

Dsh o Jes 3 rey ss 4 usedto Sole 05 S Jsw ol

Did he used to smoke cigarette?

Used he to smoke cigarette?
= 0bes sa 1y sle 5 il e x4 2dls Cosle slas 4 &oyle ol 1 10 be used to -2

Al NG ol o 4 fad il o)l pen oS 3 opl 3l A 5 Sodls AL Tas cdas e 0L
He is used to smoking cigarette.
S B s s sl
ol o &0 2ol OF 5l dar b 5 o5 (S 4 055 Csle gbms 4 <jle -l s get used to -3
Al ing
He will get used to smoking cigarette.



35 dal cole DS w4
:still — yet —any more —any longer b bls,l ;5 S -10
35050 S8 s 5 e SO 5 s Slae wstill =i
She is still working in that office.
S a5 S 5 01 55 Sy
BS00 JSG e 5 I O 3 s gl 4 Yet i)
She has not started working yet.
el 03 S5 65,5 1 5 S 5m sl
Al e e e s 5 sl e still i o &ls 53 Sos slae w any more & jle
She is not working in that office any more.
LS e I8 eS s ol 5 Kool

el =3 51 Jdnolonger LI s Ly i O Ay Kos glas 4 o any longer & le
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He is no longer working in that office. Ce'( C -
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(F e Sl
1- Since seven o'clock this morning, Mr. Yokota ___in his garden.
A) Worked B) is working C) has been working D) works
2- The law requires employers to pay the wages that they
A) owes B) are owing C) have owned D) owe
3- There is a warning to stay away from the machinery while it
A) spin B) is spinning C) has been spinning D) is spin

4- After a month of rain, forecasters are predicting fine weather.

People  relived.
A) may feeling B) must be feeling
C) must to feel D) must feeling
5- the pilots must need arest; they  from a long flight.
A) have just returned B) returned just
C) have returned D) have just been returning
6- Have you noticed that the planet Venus __ exceptionally bright the past few nights?
A) Is being B) had C) has been D) is been
7- Our cactus plant __ magnificent flowers once a year.
A) Is been producing B) producing
C) Have produced D) produces

8- Mr. Sims is in the newspaper room producing to find a particular article.

A) trying B) try C) tries D) he is trying

9- The accountants are examining the new calculators butthey  financial matter.
A) Should be discuss B) supposed to discuss
C) are supposed to be discussing D) must be discussing
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10- ever since Picasso's paintings went on exhibit, there large crowed at the
museum every day.

A) Is B) have been C) has been D) are being
11- We you a ride this morning but the car was full.

A) Will give B) would give

C) Would have given D) would be giving
12- By the time they entered the concert hall, the musicians the introduction to the
opera.

A) was playing B) had played C) played D) have played

13- The baker ran out of sugar while he

A) had been baking B) was baking
C) baked D) had baked
14- In spite of the fact that Johanna has many personal problems, she present every

day since the first day of class.

A) Has been B) had been C)is D) was
15- can you tellmewhenshe 2

A) Has moved B) had been C) moved D) was moving
16- The jury is still out. The members __ the case.

A) Must still be discussing B) must be discuss

C) Could still discuss D) maybe discussing
17- Esperanza has not been able to attend the last few night. She _ do some work for
her father.

A) must B) must to C) had had to D) has had to
18- Whenever the safety commission __its regulations, there are complaints.

A) is enforcing B) enforces C) enforce D) enforced
19- when he decorated the cake, he _ roses around each candle.

A) Puts B) had put C) has put D) put
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20- They for seven hours when they spotted a sign that said guests.
A) We're driving B) drove C) had been driving D) had drove

21- Michiko could not come to the telephone when Mrs. Sakuda called her because she
in the laboratory.

A) had been working B) has been working

C) was working D) worked
22- For some time, jack his paintings to the Perlson art gallery.

A) Is selling B) has been selling C) has selled D) was sold
23- By this time next week, the winners their awards.

A) Will have receive B) will have received

C) Will be received D) will have receiving
24- we walked in the opposite direction as soon as we realized that we the wrong
path.

A) Had taken B) were taken C) took D) have taken
25- if they , every one can have a chance to speak.

A) took turns answering B) would take turns answering

B) Are take turns answering D) take turns answering

26- Last month I read a book about the either of a primitive society.

Thismonth __ arecently published historical novel.
A) | have reading B) I had been reading
C) Iam reading D) I was reading
27- By the next October that couple _ together for 25 years.
A) have performed B) will be performing
C) will have been performing D) will perform
28- What a lovely night! The moon __ brightly.
A) Shines B) is shining C) shined D) was shined
29- The deficit _ So large, we will probably have to pay additional taxes.
A) is growing B) grows C) has growed D) was growing
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30- Charles her but he changed his mind.

A) would call B) was planned call
C) would have call D) was going to call

31- Since the first space mission, many communication satellites

A) was launched B) have been launched

C) are launched D) had been launch
32- Yesterday Pete  aticket for speeding.

A) Was gave B) had been given C) was given D) gave
33- Before leaving camp, the boy scouts _ the fire.

A) put out B) had putted out C) had put D) were putting out

34- By the time the applicant makes up his mind, the offer

A) will cancel B) will be canceling
B) will have been cancelled D)will have been cancel

35- Doug has recently had his poetry

A) publish B) to publish C) be publish D) published
36- In a few month, the film ___its production.

A) will be increasing B) will increased

C) isincreased D) has increase
37- The day before yesterdaywe _ avery bad storm.

A) had had B) had C) were having D) have had
38- She complains thatshe  headaches.

A) has frequently B) has had frequently

C) frequently has D) have frequent
39- New officers by our club when we hold our next meeting.

A) Elected B) will elect C) expect to elect D) will be elected

40- Brigitte thinks her dress is a little too long. So she plans get it

A) shortened B) be shortened C) shorten D) to have shortened
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41- Mr.Caulfield went to bed as soon as he got home. He for ten straight hours.

A) had been working B) was working

C) worked D) had been worked
42- If the alarm does not work on your clock, why do not you ?

A) have repair it B) repair it

B) to repair D) have it repaired
43- Howard to speak with them but they appeared to be in a hurry.

A) would stop B) would be stopped

B) would have stopped D) will stop
44- By the end of this month she expects to six chapter.

A) be written B) have written

C) have wrote D) have been written
45- when ?

A) will be the package delivered B) will the package deliver

C) will the package be deliver D) will the package be delivered
46- The couple are looking for an apartment, ?

A) do not they B) are not they C) did not they D) are they
47- did you buy the gift?

A) for whom B) who C) for who D) whom for
48- just before the entertainment was presented?

A) why they left B) why they did leave

C) why did they leave D) why they had left

49- The moment he mailed the letter, he was sorry that he

A) wrote it B) had written it
C) had been writing it D) was writing it

50- The customer complained that the lamps had not been delivered yet,

B) and neither the chairs B) and the chairs too
C) and the chairs were not either D) and neither had the chairs
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1) The new computer program provide a variety of applications.
S \%
2) The box can be opened with a special screwdriver.
S \%
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1) Shopping in the downtown area of the city has improved a lot in recent year.
S \%

2) The report with complete documentation was delivered at the conference.
S \%

IBC{)L@A

Jb b 6 SV 53 Jas Ygeme 15 il (Ol ilae) Jo iy s S e Jolb Jiny oSole

J).«QL;A 4.’73}5 oLS.&\A.La}-

35 ol ahes 51 ST 5 sls DLy e 0T L5 e (6555 ol S dar b 13 oS ool al Jt

s b Js
LT LS e 5 ol o oo 245

1) Valentine's day, February 14, is a special holiday for sweethearts.
S APP Vv

2) The only entrance to the closet, the door was kept locked at all time.
(Jx) APP S \Y
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1) The companies offering the lowest prices will have the most customers.
S ADJ \%

2) The spices flavoring the meal were quite distinctive.
S ADJ \%
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1) Those suspected in the string of robberies were arrested by the police.

S ADJ Vv
2) Any bills paid by the first of the month will be credited to your account by the next
S ADJ \Y
day.
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1- The North Platte River __ from Wyoming into Nebraska.

A) It flowed B) flows C) flowing D) with flowing water
2- __ Biloxi received its name from a Sioux word meaning "first people".

A) The city of B) located in C) ltisin D) The tour included
3- A pride of lions __ Up to forty lions including one to three males, several females,
and cubs.

A) can contain B) it contain C) contain D) containing
4-  teaplant are small and white.

A) The B) On the C) having flowers the D) the flowers of the
5- The Tetracyclines,  Antibiotics, are used to treat infections.

A) are a family of B) being a family

C) afamily of D) their family is

6- Any possible academic assistance from taking stimulants

A) itis B) there is C)is D) as
7- Henry Adams, born in Boston, _ famous as a historian and novelist.

A) become B) and be come C) he was D) and he become
8- The major cause __the pull of the moon on the Earth.

A) the ocean tides are B) of ocean tides is

C) of the tides in the ocean D)the ocean Tides
9- Still a novelty in the late nineteenth century,  limited to the rich.

A) was B) was photography

C) it was photography D) photography was

10- A computerized map of the free ways using information gathered by sensors embedded in
the pavement on a local cable.

A) airs B) airing C) air D)to air
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1) The missing wallet was found. but the cash and credit cards had been removed.

2) The chemist was awarded the Nobel Prize- so he flew to Europe to accept it.
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1) 1 will sign the check before you leave.

EPT 03l ol S 5 oSS — o gy



2) Before you leave, | will sign the chech.
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After- as soon as- once- when as — now that
As- before- since- whenever because — since
As long as- by the time- until- while in as much as

1) we can start the conference now that all the participants have arrived.

2) Once the address label for the package is typed, it typed, it can be sent to the mail
room.
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if although as where
in case even though in that wherever
provided though
providing while
unless whereas
whether
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1) No one is admitted to the academy unless he or she meets the education requirement.

2) Providing the envelope is post market by this Friday, your application is still
acceptable.
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1- The president of the united State appoints the cabinet members, ........... appointments are
subject to Senate approval.

A) their B) with their C) because their D) but their
2- The prisoners were prevented from speaking to reporters because,, ...........

A) not wanting the story in the papers
B) the story in the papers the superintendent did not want
C) the superintendent did not want the story in the papers.

3- Like Thomas Berger's fictional character Little Big Man, Lauderdale managed to find
himself where ........... of important events took place.

A) it was extraordinary number

B) there was an extraordinary number
C) an extraordinary number

D) an extraordinary number existed

4o, Sucked groundwater from below, some parts of the city have begun to sink as
much as inches annually.

A) Pumps have B) As pumps have
C) So pumps have D) With pumps
5- Case studies are the target of much skepticism in the scientific community ........... used

extensively by numerous researchers.
A) they are B) are C) yet they D) yet they are

6- According to the hypothesis in the study, the monarchs pick up the magnetic field of the
........... migrate by following magnetic fields.

A) target monarchs B) target since monarchs
C) target since monarchs are D) target
T- e Show the relations among neurons, they do not preclude the possibility that other

aspects are important.

A) Neural theories B) A Neural theory
B) Although Neural theories D) However Neural theories
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8- i or refinanced, the lender will generally require setting up an escrow account to
ensure the payment of property taxes and homeowner's insurance.

A) A home is B) A home is bought
C) When a home D) When a home is bought
9- if ultraviolet radiation enters the Earth’s atmosphere, ........... generally blocked by the

ozone concentrated in the atmosphere.

A) it B)itis C)soitis D) then it

10- Among human chromosomes, the Y chromosome is unusual ........... most of the
chromosome dose not participate in meiotic recombination.

A)in B) so C) and D) in that
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what when where why whether

whatever whenever who if that

1) I know what you did.

J}&LA:w\ C))L:.C

2) What you did was wrong.

3) when the season starts is determined by the weather.
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1) The employee was unhappy about what was added to his job description.
S \%

2) The motorist was unable to discover who had struck his car.
S \%
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whom which that
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1) The plane that he was scheduled to take Hawaii was delayed.
Adj clause

2) | made an appointment with the doctor whom you recommended.
Adj clause
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ZLAJ&G-W} C))L?.C« LSLAQJJ\AJ .k.u Cew )y Jﬁ)ls

W‘}: bLé('.w‘6&@&)@L;%f.aLS‘fL;iJ‘}Q)L&LSLAOMJJQJ)‘&SV.}‘J{_JYLQJL@AJJ
S s ey Oole sdas Ja_gj'_i.i:j}.ad&ﬁ).sé.)%smﬁ\j}b@.\): L o oslanal Wiy S e

ML»J:.: L}S‘b ‘_)LA) QL«AJJ k‘j&jWoMJ .k_u

1) The door that leads to the vault was tightly locked.

S V

2) These plants can only survive in an environment which is extremely humid.
S V
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1- Dolphins from extremely complicated allegiances and continually change.
A) enmities that B) that are enmities
C) enmities that are D) that enmities
2- Scientists are now beginning to conduct experiments on trigger different sort of
health risk.
A) noise pollution can B) that noise pollution
C) how noise pollution D) how noise pollution can
3- The Apollo 11 astronauts of the Earths in habitants witnessed on the famous first

moonwalk on July 20T 1969, were Neil Armstrong and Buzz Aldrin.
A) whom B) whom millions  C) were some D) whom some were

4- At the end of the nineteenth century, Alfred Binet developed a test for measuring
intelligence seeved as the basis of modern IQ test.

A) has B) it has C) and D) which has

5- have at least four hours of hazardous materials response training is mandated by
federal law.

A) All police officers B) All police officers must
C) that all police officers D) For all police officers

6- A clouds reservoir of negative change extends upward from altitude at The
freezing point.

A) temperatures hit B) hit temperatures
C) which temperatures hit D) which hit temperatures

7- In a 1988 advanced officers training program, Sampson developed a plan to incorporate

police in enforcing environmental protection laws whenever _ feasible.

A) itis B) is C) has D) it has
8- will be carried in the next space shuttle payload has not yet been announced to
the public.

A) It B) What C) When D)That
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9- During free fall, Up to a full minute, a skydiver will fall at a constant speed of 120 m.p.h.

A) itis B) which is C) being D) is

10- the fast the most important ratings period is about to begin has caused all the
network to shore up their schedules.

A) is that B) of C) that D) what
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My friend should be on the train which is arriving at the station now.

Or

My friend should be on the train arriving at the station now.
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The woman who is waving to us is the tour guide.
The woman waving to us is the tour guide.
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1) The children sitting in the fancy restaurant found it difficult to behave.
2) The suspect can be seen in the photographs just released by the police.
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once- until- when- whenever- where- wherever- as
Once you submit your thesis, you will graduate.
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Once it is submitted, your thesis will be reviewed.
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If- unless- whether- although- though
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1) the medicine is not effective unless taken as directed.
2) you should negotiate a lot before buying a new car.
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1- When nests during spring nesting season, Canadian geese are fiercely territorial.

A) building B) are building C) built D) are built

2- 1 n 1870, Calvin, alone with Adirondack hunter Alvah dunning, made the first know ascent

of Seward mountain, far from roads or trail.
A) aremote peak B) it is a remote peak
B) aremote peak is D) which a remote peak
3- Kokanee salmon begin to deteriorate and die soon at the age of four.
A) they spawn B) after spawning
C) spawn D) spawned the salmon
4- behind government secrecy for nearly half a century. the Hanford plant in central

Washington produced plutonium for the nuclear weapons of the cold war.

A) It is hidden B) hidden
C) Which is hidden D) the plant is hiding.
5- until Incorrect, astronomers had assumed that the insides of white dwarfs were
uniform.
A) they B) their proof
C) the astronomers recently proven D) recently proven
6- artifacts from the early Chinese dynasties, numerous archeologists have explored

the southern Silk Road.

A) they were searching for B) it was a search for
C) searched for D) searching for

7- In Hailey, the best known lecturer was woman's rights activist Abigail Scott Duniway of
Portland, Oregon, who could usually be persuaded to speak town visiting her son.

A) she was in B) while in C) while she was D) was in
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8- The national restaurant Washington, says that federal effort to regulate
workplace smoking would limit restaurants ability to respond the desires of their

patrons.
A) association in B) Association is in
B) association which is in D) Association, based in
9- in North American waterways a little over a decade ago zebra mussels have

already earned a nasty reputation for their expensive habit of clogging water pipes in
the great Lakes area.

A) The first sighting B) Although first sighted
B) zebra mussels were first sighted D) first sighting
10- Small companies may take their goods abroad for trade shows without paying foreign
value- added taxes by acquiring an ATA carnet.
A) a document calls B) a document called
C) calls a document D) called a document
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1) what type of security dose he prefer for his investments?
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2) not even the bank president knows when the vault will be opened.
S Vv
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In- here- there- around ....

1) In front of the house were some giant trees.
\% S
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2) In the classroom, | studied very hard.
S V
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tste Slle Lol pan
No — Not- Never — Neither — Nor
Barely- Rarely — Hardly — Only — Scarcely — Seldom
Ll e 35 s 55 S opl OLe SLS 5 Lol jen S ol

1) On no occasion did they say that to me.
2) Only once in my life have | gone new York City.

18 C)JL@J

b S sl e Bl Sy Sl pl 33 8 b wls ad 5 ol e ol (See b3 el o

s 55 bl | s 5 Jolb 5 3l 1, if 015 o b= ) s 3L had « should were L.
1) If he had taken more time, the result would have been better.

Or

2) Had he had taken more time, the result would have been better.

19 CJ)LQ-G
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s R S e Jab 5 Jel8
1) We were prepared than the other performers were.

Or
2) We were prepared than were the other performers.
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1-Rarely ............... located near city lights or at lower elevations.
A) Observatories are B) are
C) in the Observatories D) are Observatories
2- There are geographic, and cultural reason why ............... around the world
A) diets differ B) do diets differ
C) are diets different D) to differ a diet
3-Were .......oenee. Millions of dollars each year replenishing eroding because, the

coastline would be changing even more rapidly.

A) the U.S army corps of engineers not spending

B) the U.S army corps of engineers not spend

C) the U.S army corps of engineers dose not spending
D) not spending the U.S army corps of engineers

4-now here ............... more skewed than in the auto industry.

A) that retail trade figures B) retail trade figures
C) are retail trade figures D) retail trade figures

5- New York City's Central Park is nearly twice as large ............... second smallest
country, Monaco.

A) as B) is the C)asis D) as is the
6- Potassium has a valence of positive one electron when ............... with other elements.

A) dose it combine B) it combines

C) in combining D) combination

7- The economic background of labor legislation will not be mentioned in his course,

veeee..... De treated.
A) trade unionism will not B) nor trade unionism will
C) nor will trade unionism D) neither trade unionism will
8 s test positive for antibiotics when tanker trucks arrive at a milk processing

plant, according to federal law, the entire truckload must be discarded.

A) Should milk B) if milk C) If milk is D) milk should
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9- Located behind ............... the two lacrimal glands.

A) each eyelid

B) is each eyelid
C) each eyelid are

D) each eyelid which is

10- Only for a short period of time ............... Run at top speed.

A) cheetahs B) do cheetahs C) that a cheetahs can
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1) The tenants in the apartment next to mine are giving a party this evening.

S \
2) The president, surrounded by secret service agents, is trying to make his way to the
S \
podium.
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1) The witnesses saw that most of the fire in the hills was extinguished.
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1) Behind the house were the bicycles | wanted.
2) This chapter has many more exercises than does the next one.
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anybody anyone anything
everybody everyone everything

nobody No one nothing
somebody someone something

Every (+ noun)
Each (+ noun)

1) Itisimpossible to believe that someone actually admires that man.
2) Itis nice to believe that anything is possible if a person tries hard.
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1- Among bees _ ahighly elaborate from of communication.
A) occur B) occurs C) it occurs D) they occur

2- __ heated by solar energy has special collectors on the roof to trap sunlight.
A) A home is B) home are C) A home D) Home

Choose the letter of the underlined word or group of words that is not correct.

3- Each number in a binary system are formed from only two symbols.

A B C D
4- Scientist at the medical center is trying to determine if there is a relationship between
saccharine and caner. A B C
D

5- On the rim of the Kilauea volcano in the Hawaiian Island are a hotel called the Volcano
Hotel. A B C D

6- The great digital advances of the electronic age, such as integrated circuitry And a
A B

microcomputer, has been planted in tiny chips.
C D

7- There are many frequently mentioned reason why one out of four arrests Involve a
juvenile. A B C D

8- Kepler's Law, principles outlining planetary movement, was Formulated Based on
observation made without a telescope. A B C
D

9- only with a two- thirds vote by both houses are the U.S. Congress able to override a
A B C

presidential veto.
D

10- Of all the evidence that has piled up since Webster's paper was published, there is no new
A B C
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ideas to contradict his original theory.
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1) I like to sing and to dance.
2) | like to singing and to dancing.

S Sl Sl C3le b LT 3 &S s ls s s DI s

24 C)JL@J
1 Soalen Ly by Lol en DL 5 (55150 slaler b

AND

oL b=l + BUT  + 5Ll

OR
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1) She held jobs as a typist and a housekeeper.
2) The manager needed a quick but thorough response.
3) The report you are looking for could be in the file or on the desk.
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Both and

Either or

Neither nor

Notonly  butalso

S7
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1) She would like neither to see a movie nor to go bowling.
2) Both the tailor and the laundress could fix the damage to the dress.
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more ... than

er ... than
less .... than

as ....as
the same as

similar to
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1) Their car is as big as a small house.

2) Renting those apartment costs about the same as leasing them.
3) His research for the thesis was more useful than hers.

4) 1 want new secretary who is as efficient as the previous one.
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1- Truman Capote's in cold blood is neither journalistically accurate.

A) a piece of fiction B) nor a fiction work
C) or written in a of fiction way D) nor completely fiction

2- Vitamin is necessary for the prevention and of scurvy.
A) it cures B) cures C) cure D) for curing
3- A baby's development is influenced by both heredity and

A) by environmental factors B) environmentally
B) the influence of the environment D) environment

4- Because bone loss occurs earlier in women than the effects of osteoporosis are
more apparent in women.

A) men do B) in men C) as men D) similar to men

5- Fire extinguisher can contain liquefied gas, dry chemical or watery.
A B CcC D

6- the U.S congress consist of both the senate as well as the house of representative.
A B C D

7- The prison population in this state, now at an all time high, is higher than any state.
A B C D

8- A well-composed baroque opera achieves a delicate balance by focusing alternately on the
A B C

aural, visual, emotional, and philosophy elements.
D

9- Manufacturer may use food additives for preserving to color to flavor, or to fortify foods
A B C D

10- A bankruptcy may be either voluntary nor voluntary.
A B C D
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More - &b caw

Comparative:
als§ e —er

Most - .l caw

Superlative:

aU§ Cao —€St

1) Alaska is the coldest of all the states in the United States.
2) She was happier this morning than she had been yesterday.
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1) he bought the most powerful stereo speakers that he could find.

2) The first journal article is longer than the second article.
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1) The harder you work, the more you accomplish.

2) The more children you have, the bigger the house you need.

3) The greater the experience, the higher the salary.

el ey QLS Iy 505 ab (g5 5550 oS dolel ax g5



62

(P sl

1- The speed of light is The speed of sound.
A) faster B) much faster than C) the faster D) as fast
2- The use detail is method of developing a controlling idea, and almost all

students employ this method.

A) more common B) common

C) most common D) the most common
3- in Stevenson's landscape, the more vitality and character the paintings seem to
POSSess.

A) the brushwork is loose B) the looser brushwork

C) the looser brushwork is D) the looser the brushwork is

4- Ceatain types of snakes have been known to survive fasts more as a year long
A B C D

5- The gizzly bear, which can grow up to eight feet tall, has been called a more dangerous
A B C D

animal of north America.

6- Climate, soil type and availability of water are the most critical factors than selecting the
A B C D

best type of grass for a lawn.

7- Peter Abelard a logician and theologian, was the controversialest teacher of his age.
A B C D

8- Protein molecules are the most complex than the molecules of carbohydrates.
A B C D

9- The leek, a member of lily family has the mildest taste than the onion.

A B C D

10- the widely used natural fiber of all is cotton.

A B C D
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walk walk(s) walking walked walked
hear hear(s) hearing heard heard
cook cook(s) cooking cooked cooked
sing sing(s) singing sang sung
come come(s) coming came come
begin begin(s) beginning began begun
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1) The installer should have completed the task more quickly.

2) The secretary has broken her typewriter.
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1) We are meeting them later today.

2) The report should have been submitted by noon.
:SZCJ)LQJ
MODAL Jleél L LWILL 5l any Job ol p 55 008

a5 (might, must, will, would, can, could, may) of | » 4 (modal) 23U Jlsl oS ,a

3303 o3lizal Jab Lol o3 5100 51 dm asl A ey

1) The salesclerk might lower the price.

2) The television movie will finish in a few minutes.
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1- Alice in Wonderland, first published in 1865, has since being translated into thirty

A B C D
languages.
2- The peace Corps was establish on march 1, 1961, by then resident John F Kennedy.
A B C D
3- The advisor told himself, while listening to the speed, that a dozen other Reporters
A B
would has already asked that question.
C D
4- at the start of the American Revolution, lanterns were hung in the Old North Church
A B C
as a signal that the British were come.
D
5- linus Pauling has wins two Nobel Prizes: the 1954 Nobel prize in Chemistry and the
A B C D
1962 Nobel Peace Priza.
6- On the huge Ferris wheel constructed for a world exhibition in Chicago in 1893, each
A B C
of the thirty — six cabs held sixty people.
D
7- To over come rejection of a skin graft, a system for matching donor and recipient
A B C
tissues has be developed.
D
8- Nails are commonly make of steel but also can contain substances such as Aluminum
A B C D
or brass.
9- A patient suffering from amnesia may had partial or total loss of memory.

A B C D

10- The idea using pure nicotine to help smokers stop was first tries in the mid- 1980 s

A B C D
with nicotine- laced chewing gum.
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1)He took the money when he wanted it.

Past Past
2) | know that he took the money yesterday.
Present Past
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I have liked the designs that are on the cover,

Present perfect present
He had fastened his seat belt before the airplane took off
Past perfect past
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BY AGO SINCE
LAST LATELY
IN

1) The phone rang incessantly last night.

2) The student has been writing many compositions lately.
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1) He knew that he would be able to pass the exam.
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1- In several of his paintings, Edward Hicks depicted the Quaker farm

A
in Pennsylvania where hespends his youth.
B C D
2-Florida hasbecome the twenty- seventh state inthe United States
A B C D

on March 3, 1845.

3- After last week's meeting,the advertising department quickly

A
realized that the product will need anew slogan.
B C D
4-John F.Kennedy's grandfather, John F.Fitzgerald, serves two terms
A B
asthe mayor of Boston inthe beginningofthe twentiethcentury.
C D

5-Fort Ticonderoga, astrategically important fortification during the
Revolution, had sincebeen reconstructed and turned in to a Museum.

A B C
6- In making theircalculations, Institute researchers assume that the
A
last costly From of energy would be used.
B C D
7- A twenty-one-year-old manbecame the second casualty yesterday
A
when he loses control of his truck.
B C D
8- Most people had written with quill pens until pens with metal
A B C
points become Popularinthe middle of the nineteenth century.
D
9- In a determined drive to pare itsdebt, Time Warner is launchinga
A B
stock offering plan that would potentially raise$ 2.8 billion.
C D
10- The formula used inthe study calls for either peroxide or
A B
metaldehyde, but metaldehyde was not always available.
C D
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Sadra Wrote the Letter The Letter Was Written by Sadra
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1) Money is lent by the credit union to those who want to buy homes .
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1) The carwas parked inano-parking zone.
Passive

2) Thepolice investigated himbecause ofhisunusual actions.
Active
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1- discussed by the board of directors when it was -proposed again by the
Supervisors.
A) The problem had already B) The problem is already

C) The problem had already been D) The problem has already

2- Much of the carnage of elephants, giraffes, and big cats
uncaring hunters.
A) must commit by B) must be committed

C) must have committed D) must have been committed by

3- The x- ray treatments Up to the time that he was dismissed from the hospital.
A) gave daily B) were given daily

C) basically have given D) daily had been given

4- Particular issues that concern teenagers were covering in the half-
A B C D
hour program.

5- Electrical impulses may also picked up by the optic nerve.

A B C D
6- Workers training for a specific job have strong possibility of being
A B C

replace by a machine.

D
7- On June 30, 1992, international timekeepers in Paris were added an

A B
extra second to the day.

C D
8- The report could not be turned in on time because all the needed
A B C
work |ost.
D
9- InEnglish these questions have be formed by changing the word
A B C

order of a statement, whereas in some languages the word order

remains the same.
D

10- He was not able to define the process by which the body had
A B C D
protected by the Immunologic system.
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EACH, EVERY, A, MANY,
:JJJJK..!J\.:L.!M)JCQ.?.-L:JJ.E.A‘).‘V.FJ‘;Q.«.Jt}%éma‘am)dm&:}wd“ﬁ)
>0 slul Lol ot A ONE,EACH, EVERY, SINGLE

g ool Lol oa : TWO,BOTH, MANY, SEVERAL, VARIOUS

1)Every receipt must be removed from the cashier's drawer and tallied.

2) There were several boxes in the cupboard, and each box contained a dozen
glasses.

2400)‘4-0
ioled JJ'UJ:.&«‘,‘JZJLMS Lb sl sl
S s e S b 58 Ol slel s Ly LT Olgien o8 s (sl olod Lisled LG sl

Vyare 535 Ol shiel cam o 1y LT Olgtad oSt bl oled LB 2 el s (g g

1ls a5 gl sl S Al s (S D (5 S DLl

oobed BB elul b el aa : MANY, NUMBER, FEW, FEWER

oooled LB e slul Lol ea : MUCH, AMOUNT, LITTLE, LESS

a\JA.Av.A.U)da)K{ oooled LB Lfeb\ho\jwrﬁSOMEwa\ Gospe &5 pl 4 ax g

ioled L6 e el L

1) After the strike, the company dismissed many employees.
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2) The less time you take on the assignment, the fewer pages you will
complete.

41 C)JL@J
I‘;c\.w‘ odsd s @) (Jﬁ &L»u

u.é‘«)bMJ&W‘)&M‘@J&GL@}CJB&L&\&L@L‘MS &JﬁdM@Lﬂ‘&SCJb—)J

.Jﬁun@jwﬁp)x,};ﬁ;w@?po%sx,)mﬁjﬁ&uyﬁdu

RCO T2 Y S St P SR VS odelin maor g3 Lol pen olul 3l (5315 (s amis 3
1) Parentheses are needed around that expression.

2) The syllabi for the courses is included in the packet of material.
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1) There Are Many Jobs Opportunity in Accounting.
ol axls

(Not accountant)

2) In the evening he relaxes in front of the fire and writes long poems,

A

(Not poet)
P

3) The sculptor worked from sunrise until sunset on his new project.

(Not sculpture)

Sl dawwzes
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(Lfal.mv‘ )‘ L5>J" o.,\.ou.,q @}‘3 Jj.xu JKJ:‘)

3 e S s L 5 e =
=3 man men
5 woman women
L foot feet
ols tooth teeth
s goose geese
Xy mouse mice
S-S5 58 child children
555 0X oxen
PAHEWER: analysis analyses
i g axis axes
Ol e crisis crises
Solen aFdim ais diagnosis diagnoses
e S o R hypothesis hypotheses
Fle parenthesis parentheses
Ly S S synthesis syntheses
Al 0L thesis theses
$SL bacterium bacteria
233l 4l curriculum curricula
Jslemosls datum data
dsl—ediky phenomenon phenomena
=S criterion criteria
ol £ 51 alumnus alumni
Jelm s SL o5 bacillus Bacilli
1 Cactus cacti
B elS-z 6 Fungus fungi
bk azas nucleus nuclei
ol pladmplas Radius radii
0 5250 S e stimulus Stimuli
03 4l syllabus syllabi
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A5 s deer deer
2l fish fish
ST oale salmon salmon
ol p3l- b S sheep sheep
VI djs el trout trout




1-As acompilation of useful details, aweekly magazine commends it

A B
self inseveral respect.
C D
2- Through aquaculture, or fishfarming, more than 500 million tons
A B
of fishare Produced each years.
C D
3- The legal system has much safeguards to protect the right ofa
A B
defendant to An impartialjury.
C D
4- The mystery bookstore waslargely aphenomena of the last decade.
A B C D

5- The Song of Hiawatha, by Longfellow, tellsthe story ofthe Indian
A
heroism Who married Minehaha.
B C D
6- Uranus isthe seventh planets from the Sun.
A B C D
7- The sycamore has board leaves witha large amount of pointed
A B C D

teeth.
8- Thefirst of two such investigation requires the students to read

A B
continuously Over a period of four hours.
C D
9- A quantitative analysis, using both the computer and quantitative
A
techniques, Areused to optimize financialdecisions.
B C D

10-To enter the FBI National Academy; an application must be
A B C
between the ages of twenty-three and thirty-four.
D
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| ME
YOU YOU
HE HIM
SHE HER
IT IT
WE us
THEY THEM

1) They saw Steve and me at the movies last night after class.

2) |1 did not know that you and *she were working together on the
project.
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MY MINE
YOUR YOURS
HIS HIS
HER HERS
s | e
OUR OURS
THEIR THEIRS

1)If she borrows your coat, then you should be able to borrow hers.

2) Saleh and Sahar invited their parents to see their new apartment.
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1) Every One MustGive his Name.

2) In spite of their small size, these video recorders produce excellent tapes.
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1- Superman made their comic debut in 1938 in Action Comics.
A B C D
2- Commercial letters of credit are often used to finance export trade,
A B
but them can Have other uses
C D
3- When children experience too much frustration, its behavior
A B C
ceases to be-integrated.
D
4- On March 30, 1981, President Reagan was shot as his was leaving

A B ZC D

Washington hotel.
5- Although the destruction that it causes is often terrible, cyclones

A
benefit a Much wider belt than they devastate.
B C D
6- President Andrew Jackson had an official cabinet, but him
A B

preferred the advice of his informal advisors, the Kitchen Cabinet.
C D
7- After Clarence day's book life with father was rewritten as a play,

A B
they ran for six years on Broadway.
C D I
8- Almost half of the Pilgrims did not survive theirs first winter in
A B C D

the New World.
9- There was no indication from the Senate that he would agree with

A B C
the decision Made in the house.
D
10- A baby learns the meanings of words as they are spoken by others
A B

and later uses Him in sentences.
C D

(F P s S\
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1)He was driving an expensive sports car.
2) Points will be subtracted for each incorrectly answered question.
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appear feel Seem
be look Smell
become prove Taste
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1) The parents seem angry about the child's report card.

2) He looked quite unhappy at the thought of living his job.

o 13 Il 3 LT e s K e 5 03 Kl oy e Sl e DUl a8 S

.‘)&GW}J&S&W}S

3) He seems usually nice .
48 CJJL@J
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1) The lawyer has carefully selected a new case.

2) The wedding reception was held at an expensive restaurant.

EPT 03l ol S 5 oSS — o gy



82

(F P s S\

1- Modem art is on display at the Guggenhein  Museum, a building

A B C
withan unusually design.
D
2- By the beginning of the 1980s fifteen states had adopted already
A B
no-fault insurance law.
C D
3- Heart attack are fatally in 75 percent of occurrences.
A B C D
4-inspite of atremendous amount of electronic gadgetry, air traffic
A B C
control stili depend heavy on people.
D
5- Only recently have soodens's industrially designers and engineers
A B
been able to optimize Watertred's unusual tread patterns for mass
C D
production.
6- A baboon's arms appear as lengthily as its legs.
A B C D
7- a serious problem ishow to communicate reliable with a
A B C
submerged Submarine.
D
8- Americans are destroying rapidly wetlands, faster than an acre ,
A B C
every two minutes.
D
9- Thecentral banking system of the United States consists of twelve
A B C
banks _district.
D
10-Telegraph service across the Atlanticwas successful —established
A B C D
in 1866.
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hourly northerly lovely costly
daily southerly likely early
nightly easterly lonely lively
weekly westerly kindly manly
monthly quarterly yearly friendly

1) The guarterly reports need to be turned in at the next weekly

adj
meeting.

2) He did not have a manly reaction to the negative comments.

1) The two brothers do not look at all alike.

alike — alive- alone- afraid- asleep.... ;I u5,le Slis -l

adj

VM}&UW S ys 3,8

2) Everyone else was asleep by the time I arrived home.
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1)There is fascinating movie atthe theater tonight.

2) Theshoppers were impressed by the reduced prices.
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1- As the only major American river that flowed inawest direction,
A B C
the Ohio was the preferred route for settlers.
D
2-During the annually salmon migration from the sea to fresh water,
A B
Alaska's McNeil River becomes agathering place for brown bears
C

waiting eagerly to catch their fill.
D
3- Edelman stresses the mounting evidence showing that greatly
A B (o}
variation on a microscopic scale is likely.
D

4-Perhapsthe most welcoming and friendly of the park's wild places
A B
is the live oak forestthat surrounds the district's alone visitor's
C D
center in Gulf Breeze.

5- Halley's comet, viewing through atelescope, was quite impressive.

A B C D
6- The state of deep asleep ischaracterized by rapid eye movement, or
A B C D

REM, sleep.

7- Among the disputing sections of Monteverdi opera are the sinfonia
A B C D
the prologue, andthe role of Ottone.

8- most probably because ofthe likable rapport between anchors, the

A B
night newscast on the local ABc affiliate hasrecently moved
C D

well beyond its competitors inthe rating battle.

9- Signing at the outset of a business deal, a contrast offers the
A B

Participant a certain degree of legal protection from costly mistakes

C D
10- The story presented by Fischer is a headlong tale so effectively
A B
that its momentum carries the reader right through the live
Cc D

endnotes
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1) She istaking atrip with friends.
2) Thereisacar in front ofthe building.
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AL AN L ol e sl (Herb,Honor,Honest)

1) It is raining, so you should bring all umbrella.
2) She was upset when an honest mistake was made.
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1) He saw a new movie.

2) Do you have another book?
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1) A baskethall player threw the ball tothe center of the court.

2) She was the most beautiful girl inthe class.
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1- On atrip down tothe bottom of the Grand Canyon, the equipment

A B C
will inall probability be carried by a burros.
D
2- Ford designed the first large-scale assemble line at plant in
A B C
Highland park, Michigan.
D
3- In the human body, blood flows from a heart through the arteries,
A B C
and it returns through the vein.
D
4-The scholarship that Wilson received to study history at Cambridge
A B C
presented an unique opportunity.
D
5- Observations from earth indicate that at the solar surface, the
A B
outward magnetic field is a strongest at the polar regions.
C D
6- A radar image of Venus add details about aplanet dominated by
A B C
volcanoes and lava.
D
7-In 1863and 1864, the U.S. congress passed the national bank acts,
A
which set up a system of privately owned banks chartered by
B C
a federal government.
D
8- An human ear respond to awide range of frequencies.
A B C D
9- Bacteria that live insoil and water play avital rolein recycling
A B
carbon, nitrogen, sulfur, and another chemical elements used by
C
D
10- During the U.S. Civil War, an_American balloonist organized
A B
a balloon corps in army
C D
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1) Canyou wait for me after the game?
Glae b bl 4550 45 Las o 1y ol dll Gy > I cpl s &S Mol -2

20 T el co

2) She was looking up aword in the dictionary.
Pl Gos o sl Sols a5 e 2l 5o
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1) Smoking isforbidden, soyoushould put out your cigarette.

2) Failure to flassthe test will result in the loss of your license.
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1) If you take this job, itwill be necessary to deal with other department.

2)He can alwaysdepend on his friends.
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1- Amelia Earhart, the first woman to fly solo across the Atlantic,

A B
disappeared on June 1937 while attempting to fly around the world.
(@ D
2- The occurrence edema indicates the presence of aserious illness.
A B C D
3- Atomic nuclei are believed to be composed by protons and neutron
A B C
in equal numbers for the lighter element.
D
4- According legend, Besty Ross designed and sewed the first
A B C
American flag.
D
5- The middle ear is attached for the back of the throat by the
A B C D

r
Eustachian tube.
6- Plants that sprout, grow, bloom, produce seeds, and die within

A B

one years are classified for annuals

C D
7- A marionette is controlled by means strings connected to wooden

A B C D

bars.
8- In July of 1861, Pat Garrett killed Billy the kid in a house close Fort

A B C D
Summer.

9- Many comfort heating systems using steam as a working fluid
A B

operate at the convention principle.
C D

10- Mars's two small moons are irreqularly shaped and covered for
A B C D

craters.
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1)1 hope that you will be able to do me a favor thisafternoon.

2) Inthisjob you will make more money than in your previous job.

59 CJ)L@-G

: LIKE,ALIKE, UNLIKE = s 8

3,8 Las S5 .
|51 S s Ol gie 4
= > Lolea—alin Sl Like
29 0 )&.
Jbsl 31 e S Ol ge
Lolea—alis Cbo Alike
S )L<4. ‘_Qm.)
L8 wlsl U= Olge @
BN Y BaalCib et
J? Lolea—alice wlol b~ Like
59,00 L Jsnie
S S Blal G > Ol e Lo gl wlol O > Unlike




59,00 L Jsnie

1)The two routes you have chosen for the trip are alike.

2) Any further work done inalike fashion will be rejected.
. 60 Q)Lé.é
: OTHER,OTHERS,ANOTHER aat s 8
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P el g e — Others

1) The waitress will bring you another bowl of soup if you want.

2) The other desk clerk must have put that message in your mailbox.

3) As some student moved into the registration area, others took their places in line.
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1- The buffalo and the bison are like except for the size and shape of
A B C D

the head and shoulders.

2- Other interesting aspect of tachistopic training in recent years
A B

has been the newfound use by professional teams.
C D

3- Only about 3 percent of oil wells Actually do a profit.
A B C D

4- Dislike sumac with red berries, sumac with white berries is

A B C

poisonous.

D
5- Pittsburgh has reduced its smog by requiring more complete

A B
oxidation of fuelin cars, and others cities can do the same thing.
C D

6- Alike all other mammals, dolphins have lungs.

A B C D

7- Up to World War 11 almost all important research in physics had

A

been made in universities, with only university founds for support.

B C D
8- Because the planthat was made yesterday is no longer feasible, the
A B
manager had to choose another alternative.
C D
9- Particles with unlike changesattract each other, while particles with
A B
alike charges repel each other.
C D

10- One another surprising method of forest conservation is controlled

A B C D
cutting of trees.
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PASSAGE ONE

Common types of calendars can be based on the Son or on the Moon. The solar
calendar is based on solar year. Since the solar year is 365.2422 days long, solar calendars
consist of regular years of 365 days and have an extra day every fourth year, or leap year, to
make up for the additional fractional amount. In a solar calendar, the waxing and waning of
the Moon can take place at various stage of each month.

The lunar calendar is synchronized to the lunar month rather than the solar year. Since
the lunar month is twenty-nine and half days long, most lunar calendars have alternating
months of twenty-nine and thirty days. A twelve-month lunar year thus has 354 days, 11
days shorter than a solar year.

1. What is the main idea of the passage?

A) All calendars are the same

B) The solar calendar is based on the sun

C) Different calendars have dissimilar bases

D) The lunar month is twenty - nine and a half days long

2. How is the information in the passage organized?

A) Characteristics of the solar

B) Two types of calendars are described

C) The strengths and weakness of the lunar calendar are described
D) The length of each existing calendar is contrasted
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PASSAGE TWO

The United States does not have national university, but the idea has been around
for quite some time. George Washington first recommended the ideato Congress;
even selected an actual site in Washington, D. C., and then left an endowment for the
proposed national university in his will. During the century following the
Revolution, the idea of a national university continued to receive the support of various
U. S. presidents, and philanthropist ~ Andrew Carnegie pursued the cause at the
beginning of the present century. Although the original idea has not yet been acted upon, it
continues to be proposed in bills before Congress.

1. According to the passage, national university of the United States
A) Has been around for awhile

B) does not exist

C) is a very recent idea

D) is an idea that developed during the present century

2. The passage indicates that George Washington did not do which of the following?
A) he suggested the concept of a national university to congress

B) he chose a location for the national university

C) he left money in his will for a national university

D) he succeeded in establishing a national university

3. Which of the following is not mentioned in the passage about

Andrew Carnegie?

A) He was interested in doing charity work and good deeds for the public.
B) He was a member of Congress

C) he was interested in the idea of a national university

D) he was active in the early twentieth century.

4. The pronoun it in line 8 refers to
A) The cause B) The beginning of the present century
C) The original Idea D) Congress
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PASSAGE THREE

Various other Native American tribes also lived on the Great Plains. The
Sioux, a group of seven Native America-n tribes, are best known for the fiercely
combative posture against encroaching white civilization in the 1800s. Although
they are popularly referred to as Sioux, these Native American tribes did not call
themselves Sioux; the name was given to them by an enemy tribe. The seven
Sioux tribes called themselves by some variation of the word Dakota, which means
allies in their language. Four tribes of the Eastern  Sioux community living in
Minnesota were known by the name Dakota. The Nakota included two tribes
that left the eastern woodland and moved out onto the plain. The Teton Sioux, or
Lakota, moved even farther west to the plains of the present-day states of North
Dakota, South Dakota, and Wyoming.

1. The paragraph preceding this passage most probably discusses
A) how the Sioux battled the white man

B) one of the tribes of the plains

C) where the Sioux lived

D) Native American tribes on the east Coast

2. Which of the following represents a likely reaction of the Sioux in the 1800s to
the encroaching white civilization?

A) the Sioux would probably help the whites to settle in the west.

B) The Sioux would probably attack the white-settlers.

C) The Sioux would probably invite the white to smoke a peace pipe.

D) The Sioux would probably join together in hunting parties with the white
settlers.

3. Itis implied in the passage that the seven Sioux tribes called each other by some
form of the word Dakota because they were
A) United in a cause B) all living in North Dakota

C) fiercely combative D) enemies

4. be inferred from the passage, that the present-day states of
North and South Dakota

A) are east Minnesota

8) are home to the four tribes known by the name Dakota
C) received their names from the tribes living there

D) are part of eastern woodlands
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Part Meaning Example
Contra Against Contrast
mal Bad Malcontent
mis Error Mistake
Sub Under Subway
Dec Ten Decade
Multi Many Multiple
Sol One Solo
Tri Three Triple
Die Say Dictate
Domin Master Dominant
Jud Judge Judgment
Mar Death Mortal
Spec See Spectator
Terr Earth Territory
Ver Turn Divert
Viv Live Revive
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PASSAGE FOUR

Although Wealth of Nations by Adam Smith appeared in 1776, it includes many of the ideas that
economist  still consider the foundation of private enterprise. The ideas put forth by Smith compose the
basis of the philosophies of school thought called classical economics.

According to Smith's ideas, free competition and free trade are vital in fostering the growth of
an economy. The role of government in the economy is to ensure the ability of companies to

compete freely.

Smith, who was himself a Scot, lived during the period of revolutions in Americaand in
France. During this epoch, the predominant political thought was a strong belief in freedom and
independence  in government. Smith embraced economic ideasof free trade and, competition which are right
inline withthese political ideas.

1. A school inline 3is
A) acommon belief B) a college

C) a university D) an educational institution

2. Which of the following isclosest in meaning to the word free in line 4?

A) Cheap B) No cost
C) Uncontrolled D) democratic

3. Lookat the word embraced in paragraph 3. This word could best be
replaced by

A) Hugged B) believe in
C) encircled D) handed over
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PASSAGE FIVE

The rate at which the deforestation of the world is proceeding is
alarming .In 1950 approximately 25 percent of the earth's land surface had been
covered with forests, and less than twenty-five years later the amount of forest
land was reduced to 20 percent. This decrease from 25 percent to 20 percent from
1950 to 1973 represents an astounding 20 million  square Kilometers of forests.
Predictions are that an additional 20 million square of forest land will be lost by
2020.

The majority of deforestation IS occurring in tropical forests in
developing countries, fueled by the developing countries need for increased
agricultural land and the desire on the part of developed countries to import wood
and wood product. More than 90 percent of the plywood used in the United States, for
example, is imported from developing countries with tropical rain forests. By the
mid-1980s, solutions to this expanding problem were being sought, in the form of
attempts to establish an international regulatory organization- to oversee the
use of tropical forests.

1. The author's main purpose in this passageis to

A) Cite statistics about an improvement on the earth's land surface
B) Explain where deforestation is occurring

C) Make the readeraware of a worsening world problem

D) Blamedeveloping countries for deforestation

2. Whichof the following best describes the tone of the passage?
A) Concerned

B) Disinterested

C) Placid

D) Exaggerated

3. This passage would probably be assigned reading in which of the following
courses?

A) Geology

B) Geography

C) Geometry

D) Marine Biology
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